MockBa — | (1 anpens 2017)

3A0A4HA Bap. 1 Bap. 2
10 om

1 16 MUH. 21 MuH.
2 pP=2, g=1 1 p=6, g=17 | m=2, n=3 n m=7, n=27
3 1330 26,25

4 45° 1:1

5 -100 -150

10 x6

1 46 n 64 35153
2 45% 56%

3 60 -120

4 3/\2 15/\2

5 (3;7/2] [-9/4;-2)
11 pm

1 16 MuH. 21 MUH.

p=2, g=1 n p=6, g=17

m=2, n=3 n m=7, n=27

2590

81,2

135°, 45°, 90°, 90°

100°, 80°, 90°, 90°

2
3
4
)

9814

39614




PET'MOHbI — | (8-9 anpens 2017)

3A0AHYA Bap.1 Bap. 2

10 ¢pm

1 30° 150°

2 40 24

3 b=6 b=7

4 32 a’ 5 a’

5

10 x6

1 40 kr n 100 kr 40nun70n
2 a=2,b=9 a=3,b=8
3 b=6 b=7

4 BC =3 LQ=1

5

11 hm

1 30° 150°

2 80 48

3 b=6 b=7

4 O3 /4 9V3

5




PEFMOHbI — || (22-23 anpens 2017)

3A0AHYA Bap.1 Bap. 2

10 chm

1 Bacsa 3a 15 cek., KaTta 3a 30 cek.,
[leTa 3a 18 cek. Konga 3a 35 cek.

2 61 67

3 59/3 32

4 AB=2, AC=6 AB=2, AC=4

5 p=2017/2 b=2001/2

10 x6

1 110 kr 87 Kkr

2 61 67

3 59/3 32

4 3,2 0,6

5 2002 4034

11 dom

1 Bacsa 3a 15 cek., KaTa 3a 30 cek.,
[leTa 3a 18 cek. Kons 3a 35 cek.

2 29 37

3 59/3 32

4 AB=15, AC=9 AB=20, AC=16

5 p=2019 b=1003




MockBa — Il (28 maa 2017)

3A0A4HA Bap. 1 Bap. 2
10 cbm

1 20 y. 5 MUH.
2 641 771

yacTu napabonbl y=x*-
2X N NpambIx X=0, x=2,

yacTu napabonbl x=y“+4y
N NpAMbIX y=0, y=-4,

3 pacnosioXXeHHble Bbllle | pacrosfioKeHHbIe NnpaBee
ocun Ox ocu Oy

4 AD=2 AD=6

5 Xx=1un x=2 Xx=1 un x=3

10 x6

1 20% 40%

2 263 264

3 (=0 =2) U (3; +) (=0 =2) U (5; +x)

4 2 2

5 920 342

11 pm

1 20 y. 5 MUH.

2 863 732

3 2 4

4 3V13 5V5

5 a=-1/2 b=-4




